TH2EE —RERMRELSE HREBRIBEE

e e s 2 REf &
MeEx REN—REEYRERLL S
16 5% R 7E b BHNEANZ AR =M TR H273%H
() EHH #6244 B
EHEERVEE 9,400m  65,500m
REB=E (FEX) 2572m
Tt K AL TR e 2R R A 40m/H  ®&XK107m/B
BEHKLEAR EYIIE+EE LB+ A RE +BE
| BT HREZEY PR (BHE2s ., TSR, FAIRERS)
ISR _ _ _ _ _ _ _ _ _ _ _ _
IHH ERXd 48 | 58 | 6A | 7H | 88 | 98 [10A [11A [12A | 1A | 2A | 3A | &5t
WA=E (EA) kg 1,090 | 840 | 40880 | 450 0 200 | 1,650 | 380 | 2,000 | 3,080 | 14,360 | 40,820 ]| 105,840
1B [ A= (FEE) kg 1,530 | 1,800 | 1,830 | 1,360 | 1,580 | 1,360 | 1,410 | 1,760 | 1,400 | 1,420 | 1,220 | 1,110 | 17,780
1'[ #ﬂ%)\%(ljxﬁ') kg 31,860 | 30,340 | 17,630 | 23,940 | 18,110 | 22,170 | 23,260 | 22,020 | 26,440 | 22,180 | 16,270 | 21,850 | 276,070
| & [IEAS (TRES) kg 0
E‘i‘ kg 34,480 | 32,980 | 60,340 | 25,750 | 19,690 | 23,730 | 26,320 | 24,160 | 29,930 | 26,680 | 31,850 | 63,780 | 399,690
2. R K FE DR _ _ _ _ _ _ _ _ _ _ _ _
5 H B {1 48 | 58 | 68 | 7B | 88 | 98 108 | 11A [ 128 | 1B | 2B | 388 | E1y
KEAFVEE (pH) — 82| 82| 82 82 80 82 82 83] 83] 82 83 83] 822
T [emiesmmrErgeon) | mg/Q 05| 09] 05 12] 009 1.1 05 2.1 24 09 14 14] 115
 [HEnBmRERECD)| mg/l 35/ 25/ 20| 28] 23] 22 26 1.9 1.9 1.9 19] 23] 232
K [(F:EEE £(SS) mg/Q 90[ 20/ 10| 40 50/ 50/ 70f 10/ 20 10[ 10|/ 10| 325
ERSFE mg/Q 45 43| 53] 50 56/ 48] 52 60/ 66] 6.1 66| 56] 547
(XD pg-TEQ/Q 0.00057 0.00030
ih [1E1E ¥4 (e mg/Q 25 28 35 18 30 41 25 34 33 31 33 26] 29.92
T BT mg/4 47 14 13 05 18 3.6 43 10 12 20 24 47| 10.73
K143V 5(ER) |pe-TEQ/Q 0.024 0.025 0.02
FAA%Y 5T i) [pe-TEQ/Q 0.025 0.069 0.05
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